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I Routinely Change My Travel Patterns/Commuting
Behavior in Order To Avoid Traffic Congestion on the
Mixmaster
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| Routinely Use the Mixmaster To Travel Across

Waterbury
ot | -
5-strongy Age G ©
';E; 3 - Neutral - 3
2 - Disagree - 1
1 - Strongly disagree 0
0 5 10 15 20 25
Number of Participants
0 "%
e + $ 20 6 1 & 1 8 /) 8 # 8 8
89 // 9 81& 8 & 858 / 85
1 >38 8) +1 8 19 51 8 8 95 +
2 1 5 |/ 8 2
I = 81 $ ?) 9 ) 2 8 9 9
L] 5/ 6 1 & 8 /| 8 2 1
$ ? 9 88 8 2 & 5 2 5 2
5 8 / 1&Y $ ? 888 9 9/ 5 2
8 1 / 8 [/ /| 8

"INTB mix



| Believe the Local Roadway Network of Waterbury Is
Difficult to Navigate and Prefer To Use the Mixmaster
To Travel Between Destinations
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| Believe the Mixmaster Acts as a Barrier to Bicycle and

Pedestrian Travel Across Waterbury
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